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@+2)@a-2)+(a+3)7°= C—b+a’+60+9=200+6a+5

(b+3)b-3)—(b+7)7= 02 —9—0° — 14— 49 = — 146 — 58

(C+4)(Cc—4)—(c—9)7 = o —16—c" + 18— 8 = 18c— 97

(d-6)°—(d +5)(d-5) = d?—36—d’ + 25 =—11

e+ 572+ (e—4)7°= ¢+ 100 + 05 + 00— 8L+ 16 = DS+ Qo — 41

(f =37 - (f-1 = W10+ 9+ 1= —10h + 9
2 2 )

2a(@a—3)—(a° + 5a) = o —6u—a —So=a —1a

(2 +b)b + 5-3b) = (2 +0)(5-20) =—4L —8 +10

(C+4—-20)7= (4—o)l: oQ—8o+76

(2d = 51 + (12d = 5d7) = i —20d + 25 +10d—5d =—d —8d + 25

(3 +e)e-3)-3>-1) = o —9 - +3=—2 —6

(Fr 22+ (-2 +2) = v rsfPot-of +4

gl4g -1 - 4G - g) = b —g —4g +4g - %

(Bh+ 22— (3h-2f = R0k +4 -9 +10h —4 = 24

%k(2—3|<)+3(k+2k)—k(3—|<):@—1,5&l+9&—3%&2:—05@2—?@

(m—4)2+2m(8—2m): ml—8m+76 +16fm—4m2=—3m2+8m+16
2 2
n+2n)(n—-2n)—(n—-2n) = -3 —m +dn==3n +n
1+20) R- 22 050 +p —1+05p=n /
(I+2p) - === Pprp I+ 0p=p -
2 2
(2r + 35)° = Mo+ 124 + R
3t(2 —u) — 2u(t—3u) = 6b =3l — 2w + 6w = 6u —5lu + 6l

A+ VA=V +Bv+2(3) = o —16-9—6=10 b -2






